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1. Findthegiven Laplacetransform L[2t’e® —4t+1]. (10)

t—sin(t) 0<t
2. Find the given Laplace transform L[ f (t)] where f(t):{ sin(®) =T

0 t>nm
(10)
. . . -1 i 25_ 5
3. Findthegiveninverse Laplacetransform L™~| — } . (20)
| s°+16
4. Find the given inverse Laplace transform L™ 228—+4} . (10
|S°—4s+4

5. Suppose that L'[F(s)]=f(t) and L™ [G(9)]=g(t). Then L[F(S)G(s)]=f(t)*g(t).
Use the inverse convolution theorem to show the following inverse Laplace
transform.  (10)

L{%}Zsm(at) (Hint: consider — _( )( ) =F(s)G(9))
S +a N +£i

6. Usethe Laplace transform to solve the following given initial value problem.

y+2y=e', y0)=1 (15)

7. Usethe Laplace transform to solve the following given initial value problem.

y"+5y'+6y=f(t), y(0=0 y(0)=-4 (20)
2

f(t):{t 0<t<3
0 t>3

8. Usethe Laplace transform to solve the following given initial value problem.

y"+10y'+100y =6(), y(0)=0, y'(0)=0 (15)



RS IR

BER 5-88 i FTExpL

e

3 Sl

%oy
P

TREp P

S

B ir

1 R EcE

L iz oA

96/01/19

60

closed books

e
S

AR LT P D E N
Table of Laplace Transform

F TR E R

. %_—dij‘j "2/”\—‘:;,1_ °

f(t) F(S)=L[f(1)]
1 1/s

t 1/s°

{" nl/gt

et 1/(s-a)
sin(at) al(s’+&)
cos(at) J(s°+&)
sinh(at) al(s*-&)
cosh(at) (s*-&)
5(t-a) e”

af (t)+bg(t) aF(s)+bG(s)
£(t) sH(s)-f(0)
(1) S'F(9)-s"(0)-...-f(0)
(1) (-1)"F"(9)
f(t) F(s-a)
f(t-a)H(t-a) e F(s)
Fare=firi-oe@da  |F(S)G(S)




